Le Present (irregular -ir verbs)
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Horizontal
2) NOUS/DORMIR
5) TU/SORTIR
7) NOUS/ENDORMIR
11) ON/SERVIR
12) ELLES/SERVIR
14) TU/PARTIR
15) TU/IENDORMIR
17) VOUS/SORTIR
18) TU/SENTIR
20) ON/DORMIR
21) ELLES/SENTIR
23) TU/DORMIR
24) ELLES/DORMIR
26) ON/ENDORMIR
27) VOUS/PARTIR
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Vertical
1) ON/SENTIR
3) TUMENTIR
4) NOUS/SERVIR
6) ELLES/SORTIR
8) NOUS/MENTIR
9) VOUS/SENTIR
10) NOUS/SENTIR
11) VOUS/SERVIR
13) NOUS/PARTIR
16) NOUS/SORTIR
19) TU/SERVIR
20) VOUS/DORMIR
22) ON/SORTIR
25) ON/MENTIR
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»n |0 Flw |z —
14 14 n|o|lx |+ pd N
O w b w w
) nlw|x w N T = Z |+
w — 14 14
n|lw| olz|w — z O <
zZ 04 4 w o) o
O 7)) o< HFlO|z]|w
S|lwi|z o n
x O n | w )
o = Z|l—]0O n z x
a) x zZ @ w o —
O wlwl|=z olz|w @) 4
a) > a) — @]
nlwlz 24 zZ 24 a)
w nlw|lz w N @] zZ
7} a) 14 w N




